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But rather, they were insinuating hints — STYAT STRAPT RN

OVERVIEW

1775 27 asked, why is there a difficulty only if we maintain X123 *T19>9, there is a
similar difficulty even if we maintain X0 *79»% for the third set of °7¥ can claim
that we only came to obligate him for a 1"n. The X3 answered that the different
sets of witnesses were making gestures and hinting to each other, therefore they
cannot claim they did not want to make him a 7v% for there is an apparent
collusion between the witnesses. Our texts read 717 ’m'mp'r;l in other texts it reads
MR TnPT X2KR. Our Mooin discusses this last Xo7a.
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According to the texts that read, >11m1 >1npT XX, it seems that the X123 wants

to establish here too (by X723 *71»%) that they were hinting -
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So the Xn> 2 will be understood even if we maintain X923 >7w»>, where for
instance that in all the three days where a different set of 27¥ came to testify,
these other two sets of 27V came to 7" with this set that testified and they were
hinting to each other.

mooIn responds to an anticipated difficulty:
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' Xp7 3"71 71"72 >"w1 explains that this justifies the view of X0 *1w% only; for they all came to 7">2 in one day and
were hinting to each other. [However if we maintain X723 *713>5 they came on three separate days, so there can be no
collusion. ]
2 If we are not 07 the word X9X the conversation of the X773 is as follows; the X773 says that the Xn»72 is difficult if
we maintain X723 7w*%; and X370 17 asks, ‘and is the Xn>732 understood if we maintain X710 7w»%°? The XA
answers it is understood if we maintain X0 7Y% since 17 T MP7. We continue with the original assumption,
that the Xn>>72 is understood if we maintain X0 *71v>°5, but not if we maintain X123 "%, See footnote # 1.
? The thrust of s'X1712 21 question (and answer) according to Mmoo is as follows. X172 21 asked, you say that there is a
difficulty if we maintain X123 *T19™%, but there is a similar difficulty even if we maintain X710 713>, so your only
option (to explain X7 *7w»2) is to say that they were hinting at each other; in that case we can even establish the
XN according to X123 >7w% and they were also hinting at each other, as moIn continues to explain. The word
'XON', indicates that we reject the initial assumption that the 8012 is not understood if we maintain ¥723 *7>5.
* This should read 1PIM37 (instead of 1PR1°17); it is in 2,10 P70, The X na there says that if there were witnesses that
a person sold another person (and they were o1177) they do not get killed, even if the 72°13 >7¥ came later and both sets
of 0*7v (the 77°2n 7y and the 72°13 *7v) were hinting at each other, nevertheless we do not kill the 77°5n *7y, for the
accused could have said (when only the 77°0n *7¥ testified, before the 12°13 >7¥ came), ‘I sold my slave’ (and he
would not be 7n 271nn), therefore the 7721 >7v alone did not testify to a capital offense. In any event it appears
from that X773 that hinting is no proof of collusion, this contradicts with our X7n3. See ‘Thinking it over’ # 1.
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And the hinting here is not like the hinting in PPt P75, for there we are

discussing an inferior hinting, which is meaningless; however here it was very
obvious from their hinting that all three 27y *n> were in collusion.”

mooIn offers an alternate distinction:
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Or you may also say that capital offenses are different, and any type of hinting is
insufficient to give the death penalty, however by monetary cases, (this same type of) hinting is a
sufficient cause to make them pay.

mooIn concludes (based on the 'R9X'):
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And all the following answers in the X713, which explain the Xn»72 if we
maintain XN *71Y"»Y, are also appropriate answers if we maintain X933 799,

SUMMARY

The (three) answers of the X3 (beginning with *1»7 *mnpT [X7X]) explain the
Xn>12 even if we maintain X723 >71w>%. Hinting to each other is sufficient evidence
of collusion to make witnesses pay and maybe even to receive capital punishment.

THINKING IT OVER

1. Seemingly we cannot compare the cases of 79 and wo1 n79n.® By 7 their
claim to avoid the on71 2WRD is that they did not know they were making him a 717
[but their testimony can make him into a 7¥12], which is disproved by *1n7 " npT.
However, there the 77°2n >7¥ claim that they never testified to a capital offense
since the defendant can claim >n79» 72y, so there was never any testimony at all.”

2. What is the difference between the answer of *117 and the answer of 191%7?

> In our case the fact that they all came each day (even though two sets of 279 had no business in 7"2 on each day)
indicates some type of collusion (but insufficient on its own to convict them); when you add the fact that they were
hinting to each other, this makes the proof of collusion conclusive. However there the fact that the 77701 791 72713 7
were together in 7"2 does not indicate any impropriety, therefore the hinting alone is inconclusive to prove collusion.
® The X7 offers two more D°X17°n (besides the answer of 17 " npPT); one answer is that they came 0°91%¥9, and
another answer is that they only recognize the owner of the ox but they do not recognize the ox.
75" maintains (WX 27 71"72) that the answer of D°91%7 applies only X110 *71w>%; however N19OIN maintains that X2
o°91¥7 means that all three sets of witnesses came each day and each set heard the others testify on their day. See
‘Thinking it over’ # 2. Regarding the last answer of 1"7°2n, see the following 1°7°3%2 7"7 '01n.
¥ See footnote # 4.
? See TN WD TN # 29.
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